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B ES TR =t St Z DO HBA=E &
(a) (b) (c) (atb+c)
I BEODE
1 RBEE
HewEe
L@EES A50, 000, 000 984, 410, 332 A53, 964, 897 880, 445, 435
ENES 0 473,321, 427 0 473,321,427
B 0 29, 607, 318 0 29, 607, 318
HEEES 0 A2,920,000 0 A2, 920,000
REEESE(A) A50,000,000 | 1,484, 419,077 53,964, 897 1,380, 454, 180
2 EEEE
(1) EXRBE
B - BT 0 0 100, 000, 000 100, 000, 000,
K - BF 0 0 200, 000, 000 200, 000, 000
ZHRAE - RITHT 0 0 100, 000, 000 100, 000, 000,
KEES - K& 0 0 200, 000, 000 200, 000, 000
RKMARY R b+ 0 0 168, 274, 300 168, 274, 300
EXBESET(B) 0 0 768, 274, 300 768, 274, 300
(2)BEEE
WHEEEIEE 0 1,501,479, 262 0 1,501, 479, 262
BEEAEILERE 0 5,690, 526 0 5,690, 526
HEEESE(C) 0 1,507,169, 788 0 1,507, 169, 788
(3)ZTDDEEEE
FIRRIT EH 0 200, 000, 000 0 200, 000, 000
RKHMRIR L (2) 0 500, 000, 000 0 500, 000, 000
KRR+ EH 0 300, 000, 000 0 300, 000, 000
&Y 0 1,268, 870, 699 0 1,268, 870, 699
Byt EHE 0 135,207, 459 0 135, 207, 459
BEY 0  6,339,326,068 0 6, 339, 326, 068
HimEE 0 206, 655, 175 0 206, 655, 175
HilEgE 0 11,069, 936 0 11,069, 936
1+ 25 % & 0 74, 808, 656 0 74, 808, 656
T 0 1,057,494,287 0 1,057, 494, 287
B ENE 0 10, 238, 400 0 10, 238, 400
VAN 0 22,501,378 0 22,501,378
BEMAE 0 542, 640 0 542, 640
H&ES 0 20, 000 0 20, 000
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(a) (b) (c) (atb+c)
RAARTILE 0 7,940, 145 0 7,940, 145
RIZFEIL S 0 11,261, 832 0 11,261, 832
ZTOEEEESE (D) 0 10,145,936, 675 0  10,145,936,675
BEE&EAE (E=B+C+D) 0 11,653,106, 463 768,274,300 12,421,380, 763
BESE(F=A+E) A50,000,000 | 13,137,525, 540 714,309,403 13,801, 834,943
I REOH
1 RBEaE
Kib& 0 311,997,123 76, 100 312,073, 223
RiILEFA 0 2,497,127 52, 000 2,549,127
-0k 0 2,758,072 0 2,758,072
E55 4% 0 5,670, 126 0 5,670,126
RIGENTFE 0 417,592, 900 0 417,592, 900
RIHEERSE 0 64, 430, 300 0 64, 430, 300
REBAaBEE(G) 0 804, 945, 648 128,100 805, 073, 748
2 EEaE
REIEAS 0 1,900,000, 000 0 1,900, 000, 000
BEAMAEILE 0 5,690, 526 0 5,690, 526
ZARILE 0 158, 279, 029 0 158, 279, 029
BRASHHE 0 16, 682, 862 0 16, 682, 862
EE&E&s (H) 0 2,080,652, 417 0 2,080, 652, 417
BEEE(1=G+H) 0 2, 885,598,065 128,100 2,885, 726, 165
Il IEBREAEDE
1 E2
2 BT IERREIE 0 0 768, 274, 300 768, 274, 300
EARBIE 0 0 768, 274, 300 768, 274, 300
IEEERMESS (J) 0 0 768, 274, 300 768, 274, 300
(SEERHE~DILEE) 0 0 768, 274, 300 768, 274, 300
(SEHEEE~DILE) 0 0 0 0
3 —HRIERREAE A50,000,000 10, 251,927, 475 A54,092,997 10,147,834, 478
(1) —HB EBRE4
— MR ERRBIE A (K) A50,000,000 10, 251,927, 475 A54,092,997 10,147,834, 478
(SEERME~DILEE) 0 0 0 0
(SEHEEE~DITLEE) 0 1,501,479, 262 0 1,501, 479, 262
ERMEAST (L=J+K) A50,000,000 10, 251,927, 475 714,181,303 10,916,108, 778
BERVERMESFT (M=1+L) A50,000,000 | 13,137,525, 540 714,309,403 13,801, 834,943




